ANUSHKA ACADEMY

BANK MOCK TEST - 170

( rd"kDr_ijHk.k )

fun®k (1-5) : fn; x, IR;d 1'u e ikp dFu ,0 nk
fu'd'kx ,o 1 fufgr gh vkidk bu dFkuk dk IR; ekuuk g]
Hy gh ok BoKkr rF;k I fHu irhr gkr gh BHM fu'd"ik
dk i< fi)j r; dj fd IHd ikp dFkuk dk futufyf[kr dku
I fud rifdd -i I wvulj.k djr gh
(1) ;fn doy fu'd1wvulj.k djrk gA
(2) fn doy fu'd' 1t vulj.k djrk gh
(3) ;fnoskorkfu'd'r sk vulj.k djrk gA
(4) fn u rk fu'drvij u ghir vulj.k djrk gh
(5) ;fn fu'd 1 vij 11 nkuk vulj.k djr g
(1-3):
dFu :
IHO firk Hib gh
dN 1k Hikb ugh gh
dN ekrk 1fk;k g
IHh cqu Hikb gh
dib firk ekrk ugh g
1. fu'd¥%:
L. dN ifk;k ekrk ugh gA
I1. dN elrk cgu ugh g
2. fu'd¥:
1. IHh Hib ;fn ekrk g rk o v ; A1rkHh gh
1. dN Hib & ekrk ugh g] @=cgu il ugh gA
3. fu'd¥:
I dN ifk;k firk ugh gA

1. dN if;k th cguugh g] MHork efrk gk Idrh g
(4-5):

dFku :

IHh deptjh effydsgh

dib elfyd “fuji{ic=ugh g
dN depljh eutj ugh g
IHih eut) prdinkj gA
dN fuji{kd eutj gh
4. fu'd¥:
I. dN eutj th fuji{kd ugh g] depljh g
1. dN fuji{kd] ;fn o pkdhnkj ugh g] rl
ugh gA
5. fu'd'%:
1. dN pkdinkj fuji{kd ugh gh
I1. dN pkdhnkj tk fuji{id g] elfyd ugh gh

dep kjh Hib

fun'k (6-12) : fn, X,
ubp i*uk d mlkj n
P,Q,R, S, W, X, Y rfk z se=old din di vij e[k dj
d cB g fdir vio®;d ugh‘fch lelu Pe ek z di ifr Q d
nk, I nlj LRk ij g € fd mi# d ee; e gh X, s db
iz d ct, 1 nlj Lk 1]°gA Xy dh cgu gh X, Zz d ifr
dh fudVre iMIh ugh gi'P rEk X d ee; doy , d gh 0;fDr
gh P, Y dk firk gh Sytk fd z di Hib g] viuh ekrk d Bnd
ck, cBk gh zdh el rflk W d chp doy ,d 0; fDchkgAZ
rFk Y d ee;™d 0;4Dr cBk gh Y, R dh ekrk gA Y, W dh
fudVre AMilh ugh“gh
6. nhxbeBd 0;oLFk d vullj futufyf[ir e D;k

(1) Ry W di dftu gA

(2),z, rfk z dk ifr ,d nlj d fudVre iMIh g

(3) dib Hi efgyk R dh fudVre iMkIh ugh gA

@) zwviun 140 d ck, 1 riljk gh

(5) Q, z dh ekrk gh
7. pdtviu ukrifikr d Ink e D;k LFku g \

Ipuk dk Tkoekuniod i< ,0

IR; o\

\_IV\_/V

(1) Bnd nk, 2) nk, T riljk
(3) ck, I rhljk @) nk, T nljk
(5) nk, 1 piFk

8. quufyf[r ilp el plj ,dfuf"prrjid 1 ,d lelu
gh futu e I diu Ik bl leg dk fgLlk ugh g \

(1) X () R
(3) W (4) Z
(5) Y

9. Ppdiviuh Ikl d InHie D;k LFku g \
(1) fudvre nk, (2) nk, 1 riljk
(3) ck, 1 ribjk @) nk, 1 nljk
(5) bue 1 dib ugh

10. Y rRkmld vdy d eé; fdru 0;0r g \

(1) ,d (2) nk
(3) rhu (4) Pl
(5) ip

11. futue I diu sdh i g\
(1) Q (2) R
(3) W @Y
(5) Z

12. Rd Bhd ck, dku cBi g \
(1) X dh nknh (2) Y dk i
(3) sdh Il 4) P
(5) Y
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ANUSHKA ACADEMY

ANK MOCK TEST - 170

( REASONING )

Directions (1-5) : These questions are based on

the following five statements. For each
question, two conclusions numbered I and II
are given. You have to take the given
statements to be true even if they seem to be
at variance with commonly known facts. Read
all the conclusions and then decided which of
the given conclusions logically and definitely
follows from the given statements disregarding
commonly known facts. Give answer

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) Ifeither conclusion I or conclusion II follows

(4) If neither conclusion I nor conclusion II

follows.
(5) If both conclusions I and II follow.

Statements :
All Fathers are Brothers.
Some Daughters are not Brothers.
Some Mothers are Daughters.
All Sisters are Brothers.
No Father is a Mother.
1. Conclusion :
I. Some Daughters are not Mothers.
II. Some Mothers are not Sisters.
2. Conclusion :
I. All Brothers if they are Mdéthersyare also
necessarily fathers.
II. Some Brothers that arémot Mothers are
also not Sisters.
3. Conclusion :
I. Some Daughters aré not/Fathers.
II. Some Daughters that®are not Sisters
can be Mothezs.
(4-5):
Statements :
All Employeé§S are"Owners.
No Owner is a Supervisor.
Some Enipleyees are not Managers.
All Managers are Gatekeepers.
Some Supetvisor are Managers.
4. Conclusion :
I. Some Managers who are not Supervisor
are Employees.
II. Some Supervisor if they are not
Gatekeepers are also not Employees.
S. Conclusion :
I. Some Gatekeepers are not Supervisor.
II. Some Gatekeepers that are Supervisor
are not Owners.
Directions (6-12) : Each of these questions are
based on the information given below:
P,Q,R, S, W, X, Y and Z are sitting around a circle

facing centre but not necessarily in the same
order. The husband of Z is{sitting second to the
right of Q who is sitting between two males. X
sits second to the left of*the"daughter of S. X is
the sister of Y. X is not'an immediate neighbour
of Z’s husband. Only one person sits between P
and X. P is the fathémef Yo S who is brother of Z
sits to the immeddate left of his mother. Only one
person sits between/Z’s mother and W. Only one
person sits between Zand Y. Y is mother of R. Y
is not an immediatéyneighbour of W.
0. Which of following is true with respect to

the given seating arrangement ?

(L)..R is the cousin of W

@) Zsand Z’s husband are immediate

neighbour of each other.
(3) .No female is an immediate neighbour
of R.

(4) Z sits third to the left of her daughter.

(5) Q is the mother of Z.
74 What is the position of P with respect to his

grandchild ?

(1) immediate right

(2) third to the right

(3) third to the left

(4) Second to the right

(5) fourth to the right
8. Four of the following five are alike in a

certain way. Which one does not belong to

that group ?

(1) X 2) R
(3) W “4) z
(5) Y

9.  What is position of P with respect to his
mother-in-law ?
(1) Immediate right
(2) third to the right
(3) third to the left
(4) second to the right
(5) None of these
10. How many people sits between Y and her

uncle ?
(1) One (2) Two
(3) Three (4) Four
(5) Five
11. Who amongst the following is S’s daughter?
(1) Q (2) R
(3) W (4) Y
(5) Z

12.  Who sits to the immediate left of R ?
(1) X’s grandmother
(2) Y’s son
(3) S’s mother-in-law
(4) P
5) Y
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fun’k (13-17) : futufyf[kr thudkjh dk é;kuiod wvé; ;u
dj uhp fn, x, 1"uk d mlkj nhfe,%

"ICng I [ ;k oLF e'lu dk tc * i ;hv
dn,d bU|V ytbu nh trh g] og iR;d pj.k e d [ fu;e
dk ityu djr g, ng 1u0; ofLFkr djrh gA uhp buiV vij
1u0; oLlFk dk ,d mnigj.k fnsk x;k gh
buiV: 17 put show on 39 27 85 gold

pj.kI:  show 17 put on 39 27 85 gold
pj.kII:  show 85 17 put on 39 27 gold
pj.k II: show 85 put 17 on 39 27 gold
pj-kIV: show 85 put 39 17 on 27 gold
pj-kV:  show 85 put 39 on 17 27 gold
pj-kVI: show 85 put 39 on 27 17 gold
pj-kVII: show 85 put 39 on 27 gold 17

pj-kvIrbl 1u0;olFk dk vire pj.k gA

13. bulV: glass full 15 37 water now 85 67
futufyfy[ir e 1 diu Ik miij fn; x, buiV dk pj.k
VI gixk \
(1) water 85 now 67 full glass 15 37
(2) water 85 now 67 glass full 15 37
(3) Water 85 now 67 glass 37 full 15
4) , Ik dib pj.k ugh gix
(5) bue 1 dib ugh

14.  ,d buiV dk pj.k II : ultra 73412 16.mail
sort 39 kite

futlifyf[kr e 1 diu Ik vire pj.k Lo e igyk pj.k

gkxk \
(1) VIII (2) IX
(3) VII (4)WT

(5) bue 1 dib ugh
15. ,d buiV dk pj.k"iI : win 75 voice 15 39
store gap 26
futufyfir e lgaku=bicfuf*pr -i 1 buiV gixk \
(1) voice 15 win%¥/S 39 store gap 26
(2) voice'win®#g,15 39 store gap 26
(3) 15 75 win voice store gap 26
4) fu/kjr ughfid;k t 1drk
(5) bue I dib ugh

16. ,d buiV dk pj.k II : tube 83 49 34 garden
flower rat 56

1u0;olFk dk ijk dju d fy, wvij fdru pj.k dh
vio®; drk gixh \
(1) plj

(3) Nk

(5) bue I dib ugh

17. buiV : hunt for 94 37 good 29 48 book
iu0;oLHk dk 1jk dju d fy, fdru pj.k dh vio™ ; dr¥

gkxh \
(1) pl (2) ilp
(3) Nb @) Hr
(5) bue I dib ugh
fun' (18-22): nh x;h Ipuk dk é;kutod 1< vkj 17Uk

d nlkj nk @, $, %, # Vvkj @ Ak i ;kx furufyf[kr v e
fd;k x;k g] €l fd unpan™®sk x;k g
‘A@B digvF g ‘A, B 1 NiVk ugh gt
‘A$ B di VRg A, B I cMi ugh gh
‘A% B di VB g ‘A, BT urkNiVk g vij g cjicj
v
‘AsB dl VE g ‘A, B 1 urkcMkg vij u gh cjicj
g
AoB dkvRg ‘A, B urkNVkg vij ugh cM
gh subp fn, x, 1R;d 1°uk e fn, x, dFuk dk IR;
elur g, irkyxib, fd up fn; x, fu'df 1 vij 11 €
u Bigdiu 1 fu'd fuf'pr -1 1 IR; g\
(1) ;fn doy fu'd' 1 IR; gh
(2) ;fn doy fu'd" 11 IR; gA
(3) stk fu'dor sk fud 1 IR; oA
@) ;hurfudyr vl ugfu'dii IR; g
(5) ;fnonkuk fu'dk 1o 11 IR; @A

18. dFku:

C$D, A@B, B#C

fu'd:

I. D%A II. C%A
19. dFku:

N @ P, M$ N, P%Q

fu'd':

. POM II. Q#N
20. dFku:

G@H, E%F, F#G,

fu'd':

. H#F ILE%G
21. dFku:

K$L, JOK, L% M

fu'd:

I. LOJ II. L%J
22. dFku:

YOz, W # X, X %Y

fu'd':

I. Z#X II. Y#W
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ANUSHKA ACADEMY

Directions (13-17) : Read the following
information and answer the questions.

A word and number arrangement machine when

given an input line of words and numbers
rearranges them following a particular rule in
each step. The following is an illustration of an
input and rearrangement.

Input:17 put show on 39 27 85 gold
Step I: show 17 put on 39 27 85 gold
Step II: show 85 17 put on 39 27 gold
Step III: show 85 put 17 on 39 27 gold
Step IV: show 85 put 39 17 on 27 gold
Step V: show 85 put 39 on 17 27 gold
Step VI: show 85 put 39 on 27 17 gold
Step VII: show 85 put 39 on 27 gold 17

Step VII is the last step of the rearrangement of
the above input.

13. Input: glass full 15 37 water now 85 67

Which of the following will be step VI of the
above input ?

(1) water 85 now 67 full glass 15 37
(2) water 85 now 67 glass full 15 37
(3) water 85 now 67 glass 37 full 15
(4) There will be no such step

(5) None of these

14. StepII of an inputis: ultra 73 12 16 mail
sort 39 kite

Which of the following steps will be,the last

but one ?
(1) VIII (2) IX
(3) viI (4)V1

(5) None of these

15. Step III of an input isk, win'75 voice 15 39
store gap 26

Which of the followingis.definitely the input ?
1) voice 15 win 75%39 store gap 26

2) voice win %5 15 39 store gap 26

3) 15 75swin voice store gap 26

4) Cannot, be determined

(5) None of'these

16. StepII of an input is: tube 83 49 34 garden
flower rat 56

How many more steps will be required to
complete the rearrangement ?

(1) Four (2) Five
(3) Six (4) Three
(5) None of these

17. Input: hunt for 94 37 good 29 48 book

How many steps will be required to complete
the rearrangement ?

(1) Four (2) Five
(3) Six (4) Seven
(5) None of these

Directions (18-22) : In the following questions,
the symbols @, $, %, # and © are used with the
following meanings illustrated :

‘A @ B’ means“A iS'net smaller than B’.
‘A $ B’ means /A istnot greater than B’.

‘A % B’ means ‘A is neither smaller than
nor equalto Bx

‘A #B’ means ‘A is neither greater than
nor equal to'B’.

‘Am©,B’ means ‘A is neither smaller than
not greater than B’.

In each of the following questions assuming
the given statements to be true, find out
which of the two conclusions I and II given
below them is/are definitely true. Give
answer—

1. If only conclusion I is true.
2. If only conclusion II is true.

3. If either conclusion I or conclusion II is
true.

4. If neither conclusion I nor conclusion
II is true.

5. If both conclusions I and II are true.
18. Statements:

C$D, A@B, B#C

Conclusions :

I. D%A II. C%A
19. Statements:

N@ P, M $ N, P%Q

Conclusions :

. PoOM II. Q#N
20. Statements :

G@H, E%F, F # G,

Conclusions :

I. H#F I.LE%G
21. Statements:

KS$L, JOK, L% M

Conclusions :

I. LoJ II. L%J
22. Statements:

YOZ, W # X, X%Y

Conclusions :

I. Z#X II. Y#W
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ANUSHKA ACADEMY

fun'k (23-27) : fn, X,
uhp 17uk d mUkj nA
xf.kr] foKku] bfrgkd] VRCHL] vxt] rik fgnh d Nb yDpj
12 viy 1 18 viy rd] ftle jfoolj ,d Nvi dk fnu g
vi;kftr dh tirh g fdir vio®;d ugh fd blh @e ek 1f;d
yDpj dk vyx&vyx le; vof/ tl 45 feuV] 55 feuV] 65
feuv] 75 feuv] 95 feuV rfik 105 feuV g fdir vio®;d ugh
fd bl Qe ek

18 viy jfookj ugh g rfk bl fnu 45 feuV dk yDpj
vi;kfer fd;k thrk g xf.kr dk yDpj 65 feuv 1 de dk g
rHk vxth d yDpj 1 Bid igy vi;kfer fd;k thrk gA fglnh
yDpj th 105 feuV dk g] rHk bfrgkd yDpj th 65 feuV dk
g] d chp e nk yDpj vik;iftr fd, tir gh vxth di yDpj
jfoolj 1 igy g rFik jfookj ,0 xf.kr yDpj d cip nk fnu gh
VAL dk yDpj t 75 feuV dk g] 12 viy dk vi;kftr ugh
ghriA “lfuokj dk vi;kfer yDpj 105 feuv dk gA

23. jfoolj 1 igy fdru yDpj vk;kftr fd, tir g \
(1) nk
(3) ikp
(5) bue I dib ugh
24. futlifyf[ir e 1 diu
Ighg\
(1) vxth & c/okj & 75 feuv
(2) xf.kr & x:zolj & 55 feuv
(3) bfrgkl & x:-okj & 65 feuV.
(
(

Ipuk dk Tkoékkuniod i< ,0

Ik yDpjé&iu&le; viof/ ditsle

4) fglnh & exyolj & 105 feuV
5) bue 1 dib ugh
25. foKiu d yDpj di“be; ity fdruk g \

(1) 95 feuVv 2) 75 feuv
(3) 55 feul (4) 45 feuV
(5) bue 1 dib ugh

26. VAL db yOpj fd Il fu vizkfer fd;k tiri g \

(1) lkeokj (2) "kfuokj
(3) exyolj (4) "kdokj
(5) bue I dib ugh

27. fdl fnu jfoolj g \
(1) 13 Vviy (2) 12 Viy
(3) 15 Viy 4) 16 Viy

(5) bue I dib ugh

fun'k (28-32) : fn, X,
uhp i'uk d mlkj nA
VIB f[kyivh Bfpu] digyt] ;ojk€] juk] xkxyh] ugjk] 1Bku rFk
/ou ,d beljr dh viB eftyk 1j jgr g 1j vio";d ugh fd
blh @e eh beljr di Icl fupy efty dk ,d] mid mjij db
nk rFk bIh 1dkj @e’th Icl mjijh.efty dk viB 1 n*lr gh
Ifpu efty 4 ij jgrk gA Hpu rfk ;ojkt d cip doy ,d
0;fr jork gh ugjk] ;ojkt d Bichuhp okyh efty ij jgrk
gh ugjk rfk 1Biu d cipsdoy=yd 0;fDr gA iBiu] ugjk |
mjij dh efty ij jgrk ghugjiefty 5 1j jgrk gh digyh rii
xixyh d chp doyd 0;fDr jork gA juk ,d le I[;k okyh
efty 1j jgrig] fdir obyh efty 8 1j ugh jgrk gh digyi]
xixyh d mjigeokyh efty ij jork gh
28. nh.xb 0;olFkd vulkj futufyflkr ikp e 1 dib pkj
fddh juf*pr rjid 1 ,dlelu g rfk ,d leg di
fuek.kidjr gA fueu e 1 diu bl leg 1 Icf/r ugh g\
) FiBlu] ugjk (2) /ou] ;ojkt
@) jul Ifpu 4) ;ojkt] Hpu
(5) Juk] xkxyh
29. ;ojit rfk Ifpu dh eftyk d Bid cip okyh efty ij

Ipuk dk Tkoékkutiod i< ,0

diu jgrk g \
(1) digyh (2) 1Blu
(3) ugjk (4) Xixyh
(5) juk
30. efty 2 ij du jork g \
(1) ] (2) ;ojit
(3) ugJ (4) /ou
(5) iBlu
31. nh xb thudijh d vullj juk d Intk e futufyf[ir e
1 D;kIR; g\

(1) juk Icl fupyh efty ij jgrk gA
digyf] juk d ulp okyh eftyk e 1 fdlIh ,d ij
jgrt ok
(3) fn, x, IHh dFtu IR; gA
(4) juk rflk ugjk d chp doy nk 0;fDr jgr gh
(5) juk ,d fo'e I[;k okyh efty ij jgrk gA
32. ;fn ;ojkt rfik Zou viu LRku cny y rFk blh 1dkj
juk Ak Ifpu Hh viu LFku cny y rk nh xb 0; oLFk
d vullj futufyf[kr e I diu juk rFk iBiu dh eftyk
d chp okyh eftyk 1j jork gixk \
(1) doy Zou
(2) dib ugh
(3) doy ;ojit
(4) 1Bku Wkj ;Ojkt nkuk gh
(5) /ou Vij ugjk nkuk gh
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ANUSHKA ACADEMY

Directions (23-27) : Read the following
information carefully and answer the questions
given below it—

Six lectures Maths, Science, History, Economics,
English and Hindi are to be scheduled starting
from 12th April and ending on 18th April with
Sunday being an off day, not necessarily in the
same order. Each of the lecture has different time
duration: 45 mins, 55 mins, 65 mins, 75 mins,
95 mins and 105 mins, again not necessarily in
the same order.

18th April is not sunday and a lecture of 45
mins is scheduled on that day. Maths lecture is
for less than 65 mins and is scheduled
immediately before English lecture. There are
two lectures scheduled between Hindi lecture
which is for 105 mins and History lecture which
is for 65 mins. English lecture is before Sunday
and there are two days between sunday and
maths lecture. Economics lecture which is for
75 mins is not scheduled on 12th April. The
lecture schedules on saturday is of 105 mins.

23. How many lectures are scheduled before

sunday?
(1) Two (2) One
(3) Five (4) Three

(5) None of these

24. Which of the following combinations of

lecture - Day - Time Duration/is eerrect ?
1) English - Wednesday,- 7Sunins

2) Maths - Thursday - 55¢mins

3) History - Thursday — 65 amins

4) Hindi - Tuesday - 105 mins

5) None is corzect

(
(
(
(
(

25. What is the timey,duration of science

lecture?
() 95 mins (2) 75 mins
(3) 55 mins (4) 45 mins

(5) None of'these
26. On which day is Economics lecture

scheduled?
(1) Monday (2) Saturday
(3) Tuesday (4) Friday

(5) None of these

27. Which day is sunday?
(1) 13th April (2) 12th April
(3) 15th April (4) 16th April
(5) None of these

Directions (28-32) : Study the following
information and answer the given question.
Eight players Sachin, Kohli, Yuvraj, Raina,
Ganguli, Nehra, Pathan and Dhawan live on eight
different floors of a building but not necessarily
in the same order. The lowermost floor of the
building is numbered onemthe one above that is
numbered two and so On till the topmost floor is
numbered eight. Sachinilives on floor numbered
4. Only one person lives\between Sachin and
Yuvraj. Nehra lives o, the floor immediately
below Yuvraj.{Only onme person lives between
Nehra and Pathan. Pathan lives above Nehra.
Nehra lives/on floor numbered 5. Only one person
live between, kohli and Ganguli. Raina lives on
an even numbered floor but does not live on floor
numbered 8™Kohli lives above Ganguli's floor.
28. gFout of the following five are alike as per
the, given arrangement and thus form a
group. Which of the following does not belong
to that group?
(1) Pathan, Nehra (2) Dhawan, Yuvraj
(3) Raina, Sachin (4) Yuvraj, Sachin
(5) Raina, Ganguli
29. Who lives exactly between the floors on
which Yuvraj and Sachin live?

(1) Kohli (2) Pathan
(3) Nehra (4) Ganguli
(5) Raina

30. Who amongst the following lives on floor
numbered 27?

(1) Raina (2) Yuvraj
(3) Nehra (4) Dhawan
(5) Pathan

31. Which of the following is true about Raina
as per given information ?
(1) Raina lives on the lowermost floor.
(2) Kohli lives on one of the floor below
Raina.
(3) All the given statements are true.
(4) Only two people live between Raina and
Nehra.
(5) Raina lives on an odd numbered floor.
32. If Yuvraj and Dhawan interchange their
places and so do Raina and Sachin, who
amongst the following will live between the
floors on which Raina and Pathan live, as
per the given arrangement?
(1) Only Dhawan
) No one
(3) Only Yuvraj
) Both Pathan and Yuvraj
) Both Dhawan and Nehra
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ANUSHKA ACADEMY

fun'k (33-35) : ulp fn, x, IR;d 1°u e ,d dFu Vvkj (1) IHh vulj.k djr gA

mld ckn dk;okfg;k d riu mik; I, I wvkj 111 fn, X, gA () dib vullj.k ugh djri gh
vkidk dFku e nh xb iR; d ckr dk Igh ekuuk g vij mid
ckn r; djuk g fd fn, x, nk 1>kok e dku Ih dk;okgh
di:liosu d fy, rdixr zi 1 vulj.k djr gh (4) doy 1 vuly.t djr g

(5) doy 11 ,0 111 vulN.k djr gh

(3) sk rk 1k wvuly.k djrk g

33. dFku:

vi/ddj:k d vullj] 1xBu d il Zu o vitio gi bl | 3% AU

"llunij oiLr Ijpuk dh n;un; gyr di dij.k gh "lgjk e 75»E1 wi/dgyix efyu cfLrsk rAk AfV;kLrj

dlk; olgh : d edurg%g jo'g t 1jdij di violl ,o0 “igjh

. . ) fodkI™Sktuk dk ,d ifrfcEc g

1. beljr d fy, ,d u;holr Ljpuk r;kj dh tuh
pifg, A dk; okghe:

. Kjpuk dh cjh fLAfr of ot o irk yxi;k tiuk L. Vol rfit "igjh fodil dh n[ij[x d fy, ,d vyx
pifg, A foHlkx gkuk pkfg,A

1. “lgjh viokl 1 Dcf/r ;keunvk dh Tehflk dh thub
pifg, A

I11. Xieh.k viokl Ic/h ;keukvk dh Ho Bek{ik dh thuh
pifg, rifd xieh.k {=tk e , Ih Bel;kvk 1 cpk &k

11. Ljpuk di fLRfr 1/4ju dh LotNfr nh thuh piig, A
(1) doy 1wvulj.k djrk gA
(2) doy 11 vulj.k djrk gh

(3) doy 11 vulj.k djrk g T

(4) doy 11 ,0 111 vulj.k djr gA (1) doy 1 vulj.k djrt gh

(5) doy 1,0 111 vulj.k djk gh (2) doy 11 vulj.k djrk gh
34. dFu:

(3) doy 11 ,0 111 vulj.k djr g
f'{kd fnol leljig e, JIh "kek JT; Hjk IEelfur ,0 ,d (@)
lotfuolk ikpk; Jh ek u™wA€ dh Hkfrdoknh nfuk e
f'i{kd fnol mAdG-eegl ij i u mBk;k

dk; okgh

1. f'{id foll mlo dk0;; de fd;k thuk pkfg,A

. f'i{id fnol mlo d fy, vij vi/d Zujik
viofVr dh tuh plfg,A

1l fi{idk dh Hfedk rFk feEenifj;k dk vit d
ifji{; e n[l thuk pkfg,A

bk 10 sk vulj.k djri g
(5) doy 1,011 vulj.k djr gh
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ANUSHKA ACADEMY

Directions (33-35) : In each question below is
given a statement followed by two courses of
action numbered I, II and III. You have to
assume everything in the statement to be true,
then decide which of the two suggested courses
of action logically follows for pursuing.

33. Statement :

According to the officials, paucity of funds
with the organisation has led to the pathetic
condition of this brilliant architectural
structure.

Courses of Action :

I. A new architectural Structure for the
building should be designed.

II. The reasons for the poor condition of the
structure should be found out.

III. Grant should be given to improve the
condition of the structure.

(1) Only I follows

(2) Only II follows

(3) Only III follows

(4) Only II and III follow
(5) Only I and III follow
34. Statement :

In the Teacher’s Day fufaiction, Shri
Sharma, a state awardeemand a retired
principal had questioned the/celebration of
Teacher’s Day in today’s,materialistic world.

Courses of Actiony:

I. The expenditure of Teacher’s Day
celebration,should be reduced.

II. More@funds should be allocated for the
celebration of Teacher’s Day.

III. The role and responsibilities of teachers
should be seen in today’s perspective.

35.

(1) All follow

(2) None follows
(3) Either I or II follows
(4) Only III follows

(5) Only II and III follow

)
)
)
)

Statement :

In the city, over, 75%,0f the people are living
in slums and sub-standard houses, which
is a reflectionf’on, the housing and urban
development policies of the Government.

Courses of Action :

I. There should be a separate department
loeking after housing and urban
development.

I1. ¢The policies in regard to urban housing
should be reviewed.

III. The policies regarding rural housing
should also be reviewed so that such
problems could be avoided in rural
areas.

—_
—_

Only I follows

Only II follows

Only II and III follow
Either II or III follows
Only I and II follow

AA
W
= = ==

a
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ANUSHKA ACADEMY

( 1[:khed withoki;r )

fun'k (36-40) : futufyf[kr 1°uk e 1*u&fplg (\) d
LFkku 1j wku oky B[;kvk dk eku crk,&
36. 475+ 950 dk 64% =900 + ?

(1) 183 (2) 233
(3) 1983 (4) 1863
(5) bue I dib ugh
37. (0.064) x (0.4)" = (0.4)? + (0.0256)>
(1) 17 2) 2
(3) 18 4) 3
(

5) bue 1 dib ugh

38. 534.596+61.472-496.708 =? + 27.271
(1) 126.631 (2) 62.069
(3) 72.089 (4) 132.788
(5) bue I dib ugh

39. 16x12-672+21=?-211

(1) 381 (2) 347
(3) 372 (4) 311
(5) bue 1 dib ugh

40. (V5-2)'=?- Jgo
(1) 445 +4 (2) 45
B) 9-4 5 (4) 9

(5) bue 1 dib ugh
fun"k (41-45) : furufyflkr I[;k Ukfkyk €1 tvplg (\)
d LFku ij D;k gkuk pkfg,\
41. 7 20 46 98 202 (?)
(1) 420 @) 410
(3) 310 (4) 820
(5) bue I dib ugh
42. 210 209 213 186 202 (?)

fun'k (46-50) : futufyf[kr 1°uk e 1"u&fplg (\) d
LFku i whku oky B[ ;kvk dk fudVre eku crk, (ok.rfod

efu dh x.kuk djuk vko"; d=ugng)A
46. 9228.789-5021'882 + 1496.989 = ?

(1) 6500 (2356000
(3) 6300 4) 5700
(5) 5100
47. 1002 = 49.x 99 — 1299 = ?
(1) 700 (2) 600
(3) 900 4) 250
(5) 400
48. 29.8% of 260 + 60.01% of 510 - 103.57 = ?
(1), 450 (2) 320
(3) 210 (4) 280
(5) 4350
49, (21,98)2 - (25.02)2 + (13.03)2="?
1) 25 (2) 120
(3) 10 4) 65
(5) 140
50. 2498 * 626 * 99 =?
(1) 110 (2) 9
(3) 200 4) 16
(5) 125
fun®k (51-55): futufyf[kr i*uk e nk letdj.k 1 ,0 11

fn; x, ob vkidk nkuk lehdj.kk dk gy djuk g ,o0
viuk Igh mUkj r; djuk gt mUkj ni

—

x>y
2. ;x>y

3. ;hx<y

4. ;x<y

5. ;fnx=y;k lc/ LFifir ugh fd;k ¢ Idrid
I

Branches :-

(;) i?? (i) ;;7 5. I x-10x+21=0
()b 1o ) II. y?-16y+63=0
43 (257) uses 7 ug% 203 (?) 52. L x—{16)7= (23"~
: ’ II. y'/3—55+376=(18)2
(1) 212 (2) 202 y (18)
(3) 301 (4) 312 12 8
53. 1. =+ 7=
(5) bue 1 dib ug NEARNFRE
44, 435 354 282 219 165 (?) \
(1) 103 (2) 112 (18)?
II. y- =0
(3) 120 (4) 130 Jy
(5) bue 1 dib ugh
45. 4 200 369 513 634 (?) 54. L J36x+64=0
(1) 788 (2) 715 1. J8Ty+ (47 =0
(3) 734 (4) 755 - VEly ()
(5) bue 1 dib ugh
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ANUSHKA ACADEMY

( QUANTITATIVE APTITUDE )

Directions (36-40) : What should come in
place of the question mark (?) in the following
questions ?

36. 475+ 64% of 950 = 900 + ?
(1) 183 (2) 233
(3) 1983 (4) 1863
(5) None of these
37. (0.064) x (0.4)" = (0.4)° + (0.0256)>
(1) 17 (2) 2
(3) 18 4) 3
(

5) None of these
38. 534.596+61.472-496.708 =? +27.271
(1) 126.631 (2) 62.069
(3) 72.089 (4) 132.788
(5) None of these
39. 16x12-672+21=?-211

(1) 381 (2) 347
(3) 372 (4) 311
(5) None of these

40. (V5-2)=?- 8o
(1) 45 +4 (2) 445
B) 9-4 5 (4) 9
(

5) None of these

Directions (41-45) : What should come in
place of questions mark (?) in thee following
number series ?

41. 7 20 46 98 2024 (?)
(1) 420 (2)a410
(3) 310 (4), 320

(5) None of these
42. 210 209 2134,1860,202 (?)

(1) 138 (2) 77
(3) 177 (4) 327
(5) Nonegof these

43. 27 38 W14126 203 (?)
(1) 212 (2) 202
(3) 301 (4) 312
(5) None of these

44. 435 354 282 219 165 (?)
(1) 103 (2) 112
(3) 120 (4) 130
(5) None of these

45. 4 200 369 513 634 (?)
(1) 788 (2) 715
(3) 734 (4) 755
(5) None of these

Directions (46-50) : What approximate value
should come in place of question mark (?) in
the following question ? (Note: You are not
expected to calculate‘thé“exact value)

46. 9228.789-5021.882 + 1496.989 =7

(1) 6500 (2}%6000
(3) 6300 (4) 5700
(5) 5100

47. 1002 + 49%99 41299 = ?
(1) 700 (2) 600
(3) 900 (4) 250
(5) 400

48. 29,8%6#260 + 60.01% of 510 - 103.57 = ?
(1) 450 (2) 320
(3)g210 (4) 280
(5) 350

49. (21.98)% - (25.02)% + (13.03)? = ?
(1) 25 (2) 120
(3) 10 4) 65
(5) 140

50. 2498 * /626 * 99 =7?
(1) 110 (2) 90
(3) 200 4) 160
(5) 125

Directions (51-55) : In the following questions
two equations numbered I and II are given. You
have to solve both the equations and give
answer.

1. Ifx>y
Ifx>y
Ifx<y
Ifx<y
If x = y or the relationship cannot be
established.
51. I. x¥*-10x+21=0

II. y»’-16y+63=0

s N

52. 1. x®-(16)2=(23)2-56
II. y'/*-55+376=(18)2
128
53. 1. \/; + \/;= \/;
9
(18)
II. - —=0
Uy
54. I \36x+64 -0

. V8ly+ (4)>=0
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ANUSHKA ACADEMY

5 9 fun’k (61-65) : futufyf[kr Vcu dk e;kuiod ve; ;u dj
55. L ot x=17Vx bu i"uk d mikj nift,p
@ s 2 ikp fofHkk foJky;k e Nk vyx&vyx o'k e yMfd;k
I3t =W PRk yMdk db Ik (1dVk e)
56. ,d ox di {=ily 1024 ox leh gh ,d vi;r] fthdh fOW;I"deAde;k W S

yclb ox dh Hethk dh nkxuh g rFk pkMib ox dh Heek | 2005 [33[36 [ 52|34\ 55[457| 24[14] 6566

] ) 2006 [66|42 | 49|22 69.[33 | 44|23 | 55|36
12 el de g] fd ycib di piMib T vuikr Kir dj \ 2007 |93 |69 [ 47142 [\g8M9 | 64|33 | 27|24

2008 |54 |96 | 63 5%mfu66 | 52 | 53|54 | 54|57
(1) 5:18 2) 16:7 2009 84 |129 (475 | 59,1 87 |66 | 121]52 | 68|65
2010 |123|1444] 98444 [M17| 42 | 122]|94 | 108|127

(3) 14:5 4) 32:5
(5) bue 1 dib ugh 61. 0% 2008 e fiNy o dh ryuk e fo|ty; D e yMdk
57. ,d f@dV ep e Hpu rfik chz if;d u "krd (100 |[ e yxtx fdru ifr'tr dh def gb g \
I vi/d ju) cuk;k rRk ;oh rRk xire 1R;d u véird (1) 1 (2) 12
Cuk; kA xtre u 76 ju cuk; rFk ;oh u xkre 1 12 ju (3K9 4) 5
de cuk;A ohz u 102 ju cu; ik FLeykEM 5k Hik (5) oue 1 dib ugh
cuk; x, THA juk dk ;kx 442 g] rk pru u fdru ju 6% 0'2009 e folky' B e yMfd:t i 1[;] 0k 2006 e
cuk; \
’ folkty; E e IHh Md rFk yMid ;k nkuk) dh
(1) 200 (2) 210 Iy (y y )
(3) 180 4) 160 dy I[ nyx fdru ifr'ir g \
(5) bue 1 dib ugh (1) 4 (2) 52
58. VuA,d [ic di20 Id.Me ilj djrh g rflk U B (3) 65 (4) 58
mlh [kc dk ,d feuV e ikj djrh gA Vu A'dh yclb Vu (5) bue I dib ugh
B dh ycib d vi/h gh Vu A dh pry*elk Ve, di ply | 63.  THi o' ok ,d IiFk feydj fo]ly; A e yMfd;k dh
I vuilr Kir dj \ vilr 1[;EKir dj \
(1) 3:2 (1) 760 (2) 800
2) 3:4
(3) 4:3 (3) 860 (4) 600
@) fu/ifjr ugh fd;ktk Idry (5) bue I dib ugh
(5) bue 1 dib ugh 64. 02009 e foky; Ce de |[ " 2009
59. 8 fdxk cinte diteY; 50 fdxi- Ic d eY; d cjicj gh e gh foky; Ae ymMid;k d di ijLij vuikr
19 fdxk viesdi eY; % 456 gA 1 fdxi- Ic dk eY; Kir dj \
2 fdxti- vie'dfeY; I nixuk gh 3 fdxk clnke rFik 4 (1) 29 : 41 @) 36: 11
fdxt Ic di dy eY; fdruk gixk \ (3) 29: 43 (4) 36 13
(1) 2,168 (2) 2,248
(3) 32,184 (4) 22,264 (5) bue I dib ugh
(5) bue 1 dib ugh 65. folky; Ee fdl o IHh Nk dh dy I[;k (yMd
60. ,d fuf'prjkf'k 1j 8% off'td nj 1 2 o' e i) k rFik yMfd sk niuk) riljh Bcl viZzd gixh \
C;kt 100 ghrk g] rk p@ofya (ke vij Belg.k C;kt
ol vrj D: g\ (1) 2006 (2) 2007
(1) 216 2 %8 (3) 2008 (4) 2005
(3) T4 4) T2 (5) bue I dib ugh
(5) bue I dib ugh
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ANUSHKA ACADEMY

Directions (61-65) : Study the table carefully
to answer the questions that follow:

25 9
NrAINRRAF:
5

1 Y, Y _

3 6 y

56. The area of a square is 1024 sq cm. What
is the ratio of the length to breadth of a
rectangle whose length is twice the side of
the square and breadth is 12 cm less than
the side of the square ?
(1) 5:18 2) 16:7
(3) 14:5 (4) 32:5
(5) None of these

57. In a cricket match, Sachin and Viru scored
a century each (more than 100 runs) and
Yuvi and Gautam scored a half century

55. L

Number of girls and boys (in hundreds) in six
different years in five different schools

School—1 A B C D E
Years Boys| Girls | Boys| Girls | Boys|Girls | Boys|Girls | Boys|Girls
2005 33|36 | 52| 3.1 {usiSuls4:5 24114 | 65|66
2006 66 (42 ] 49|22 69 |33 44 23| 55|36
2007 93|69 | 47 | 429(68 | 49 64 33| 27|24
2008 54 (96 | 63|54 [R0.6WS.2 53|54 | 54|57
2009 84 (129 | 75|69y 87 | 66 | 121|52 | 68 | 6.5

2010 1231144 (98 (44, | 11.7| 42 | 122]94 | 108]12.7

61. What isthefapproximate percentage
decrease in‘the pumber of boys in school D
in thefyear2008 as compared to that in the
previous year ?

(Il ?
each. Gautam scored 76 runs and Yuvi (3)
scored 12 runs less than Gautam. Viru

2) 12
4) 5

scored 102 runs. The sum of the scores of (5) {None of these

all the four players is 442. How many runs | 62.

did Sachin score ?

(1) 200

(3) 180

(5) None of these
58. Train A corsses a pole in 20 seconds)and

Train B crosses the same pole in one (3)

minute. The length of Train A is halfsthe (5) None of these

length of Train B. What is the ratio of the

speed of Train A to that of Train'B,?

THe number of girls in school B in the year
2009 is approximately what percent of the
total number of students (both boys and
girls) in school E in the year 2006 ?

(1) 46 (2) 52
(4) 58

(2) 210
(4) 160

63. What is the average number of girls in

school A in all the years taken together ?

(1) 3:2
(2) 3:4 (1) 760 (2) 800
3) 4:3
E4; Cannot be deterfmined (3) 860 (4) 600
(5) None of these (5) None of these
59. The cost of 8 kg of'almonds is equal to the | 64. What is the ratio of the number of boys in
cost of 50 kg of apples. The cost of 19 kg of school C in the year 2009 to the number of
mangoes is T456. The cost of 1 kg of apples girls in school A in the year 2009 ?
is twice the cost'ef 2 kg of mangoes. What (1) 29: 41 (2) 36: 11
is the total cost'ef 3 kg of almonds and 4 kg
of apples together ? (3) 29:43 (4) 36:13
(1) 2,168 (2) 2,248 (5) None of these
(3) X 2,184 (4) ¥2,264 65. In which year is the total number of

60.

(5) None of these
On a certain sum of money, the simple
interest for 2 years is ¥100 at the rate of

students (both girls and boys together) the
third highest in school E ?

8% per annum. What is the difference in (1) 2006 (2) 2007
CI and SI.

(1) 16 (2) 8 (3) 2008 (4) 2005
3) 4 4) 22 (5) None of these

(5) None of these
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ANUSHKA ACADEMY

fun'k (66-70) :
fuEufyflkr ikb pkv ok &;ku fod i<&
Ni fofthik Feyk e fkkdk dk ifrkr forj.k f'k{kdk

66.

ubp fn, x, i"uk dk mlkj nu d fy,

dh dy I[;k = 4500

4500 fi{idk e 1 if;d fty e i#k dh vyx&vyx I[;k

R
200

feyk -
ey -
feyk - 600
feyk -
feyk -
feyk -

I R R @ T ve RS 2

— t t t t t t
0 100 200 300 400 500 600 (700

feyk F e i#1 f"i{ld ftyk C e efgyk £ {kd rElkFEyk

B e efgyk f*i{kdk dn dy I[;k Kimdj ™\
(1) 1080 (2) 1120
(3) 1180 (4)41020

(5) bue I dib ugh

67.

68.

69.

70.

feyk D e efgyk fi{kdk
fri{kdk (1#'% rFk efgyk nk

g\

(1) 70

(3) 80

(5) bue I dib ugh

fdl fty e i#kgf{idh

I[;k 1 vi/dg )\

(1) doy B

(3) nik B VIpE

(5) ,d enib‘ugh

feyk B diefgyt f*i{kdk
fri{kdly (4%

fdruk g \

(1) 625

(3) 675

(5) bue 1 dib ugh

feyk c e i#'k fi{kdk

fi{kdk dn B[k 1 wvuikr
(1) 11:15

(3) 15:8

(5) bue 1 dib ugh

rHk efgyk n

dn I[;l] feyk A d dy
uk) dk yxHx fdruk ifrr

) 75
(4)190

dh 1[;k efgyk f'i{kdk dh
(2) doy D
4) NUkE VIij F

dh I[;k rfk feyk E e THD
kuk) dh dy I[;k e virj

(2) 775
4) 725

dh I1[;k dk feyk B e efgyk
Kir dj \

(2) 15:11

(4) 30:13

Branches :-

www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com

Subhash Nagar-8233223322,Fatehpura-7727867730,Anushka Library14-9521314152 Ajmer-7340019191




ANUSHKA ACADEMY

Directions (66-70) : Study the following pie-
chart and bar-graph and answer the following
question.

Percentage wise distribution of teachers in
six different districts

Total number of Teachers = 4500
Percentage of Teachers

District-E
21%

District-B
16%

District-D
15%

District-C
28%

Number of males out of 4500 teachers is
each district separately
Hl Males

200

District-A

District-B 400

District-C 600

District-E 500

District-F 100

——
0 100 200 300 400 500 600, 700!

66. What is the total numberof male‘teachers

in District F, female teaehersyin District C

and female teachers irf Distfict B together?
(1) 1080 2) 1120

(3) 1180 (4) 1020

(5) None of these

67.

68.

69.

70.

The number of female teachers in District
D is approximately what percent of the total
number of teachers (both male and female)
in District A ?

(1) 70

(3) 80

(5) None of thesé
In which district is the number of male

teachers more than the number of female
teachers ?

2) 75
(4)190

(1) Bonly (2) Donly
(3) BéthBand E (4) BothEandF
(5) None

Whatuis,the difference between the number
of female teachers in District F and the total
number of teacher (both male and female)
in District E ?

(I) 625
(3) 675
(5) None of these

What is the ratio of the number of male
teachers in District C to the number of
female teachers in District B ?

(1) 11:15 (2) 15:11
(3) 15:8 (4) 30:13
(5) None of these

(2) 775
4) 725
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ANUSHKA ACADEMY

(( ENGLISH LANGUAGE & COMPREHENSION )

Directions (71-80) : Read the following passage
carefully and answer the questions given below
it. Certain words have been printed in bold to
help you locate them while answering some of
the questions.
King Hutamasan felt he had everything in the
World not only due to his riches and his noble
knights, but because of his beautiful queen, Rani
Matsya. The rays of the Sun were put to shame
with the iridescent light that Matsya illuminated,
with her beauty and brain. At the right hand of
the king, she was known to sit and aid him in all
his judicial probes. You could not escape her deep-
set eyes, when you commit a crime as she always
know the victim and the culprit. Her generosity
preceded her reputation in the kingdom and her
hands were always full to give. People in the
kingdom revered her because if she passed by,
she always gave to the compassionate and poor.
Far away from the kingly palace lived a man
named Raman with no ends to his poverty and
no means to rectify it. Raman was wrecked with
poverty as he had lost all his land to the landlerd.
His age enabled him little towards manual labour
and so begging was the only alternative to'salvage
his wife and children. Every morning, he went
door to door for some work, food ogfmeney. The
kindness of people always got him€nough to take
home. But Raman was a little self-centered. His
World began with him first, felléwed by his family
and the rest. So, he wouldyeat annd drink to his
delight and return home with‘whatever he found
excess. This routine, follewed and he never let
anyone discover his interests as he always put
on a long face, when"he*feached home.

One day as he wasyrelishing the bowl of rice
he had just received®™from a humble home, he
heard that Rani Matsya was to pass from the very
place he was standing. Her generosity had
reached his ears and he knew if he pulled a long
face and showed how poor he was, she would
hand him a bag full of gold coins - enough for the
rest of his life, enough to buy food and supplies
for his family. He thought he could keep some
coins for himself and only reveal a few to his
wife, so he can fulfill his own wishes.

He ran to the chariot of the Rani and begged
her soldiers to allow him to speak to the queen.

Listening to the arguments outside Rani Matsya
opened the curtains of héx chariot and asked
Raman what he wanted. Raman went on his
knees and praised the, queen:% have heard you
are most generous and,most chaste, show this
beggar some charity. Rani narrowed her brows
and asked Raman what“he could give her in
return, surpriséd by such a question, Raman
looked at his bewl fullfof rice. With spite in him
he just pickedmup a¥féw grains of rice and gave it
to the queén. Rani Matsya counted the 5 grains
and looked at his bowl full of rice and said, you
shall besgiven what is due to you. Saying this,
the chatiot galloped away.

Raman abused her under his breath. This
he neverthought would happen. How could she
asky him for something in return, when she
hadn’t given him anything? Irked with anger,
hle stormed home and gave his wife the bowl of
tice. Just then he saw a sack at the entrance.
His wife said some men had come and kept it
there. He opened it to find it full of rice. He put
his hand inside and caught hold of a hard metal
only to discover it was a gold coin. Elated, he
upturned the sack to find 5 gold coins in exact
for the five rice grains. If only I had given my
entire bowl, thought Raman, [ would have had a
sack full of gold.

71. What does the phrase ‘pulled a long face’ as
used in the passage mean?

(1) Scratched his face
(2) Looked very sorrowful
(3) Disguised himself
(4) Put on makeup

(5) None of these

72. What can possibly be the moral of the story?

(1) Do to others as you would want others
to do to you

(2) Patience is a virtue

(3) Winning is not everything, it is the
journey that counts

(4) Change is the only constant thing in
life

(5) None of these
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73. Why was begging the only option for Raman
to get food?
(1) As Raman belonged to a family of
beggars
(2) As begging was the easiest way for him
to obtain food
(3) As Raman’s family had forced him to beg
(4) As he had lost all his property and was
too old to do manual work
(5) None of these
74. What did Raman find after he returned
home from his meeting with Rani Matsya?
(1) The Rani’s soldiers
(2) An empty house
(3) The five grains of rice that he had given
to Rani Matsya
(4) A sack full of rice and five gold coins
(5) None of these
75. According to the passage, which of thée
following is definitely true about Rani
Matsya?
A. She was beautiful.
B. She was intelligent.
C. She was kind.
(1) Only Aand C
(3) Only C
(5) All the three
76. Which of the following werds can be used to
describe Raman?

(2) Only B'and™
(4) Aand'B

A. Deceitful B. Selfish
C. Timid

(1) Only A (2).Only B
(3) Aand B (4) Band C

(5) All the three
Directions (77-78) : Choose the word/group of
words which isymost"similar in meaning to the
word/group of words printed in bold as used in
the passage.

77. Galloped
(1) Hurtled (2) Stumbled
(3) Slumbered (4) Jumped
(5) Ran

78. Revered
(1) Remembered (2) Feared
(3) Talked about (4) Embraced

(5) Respected

Directions (79-80) : Choose the word/group of
words which is most opposite in meaning to the
word/group of words printed in bold as used in
the passage.

79. Reveal
(1) Stop (2), Conceal
(3) Present (4)\Pending
(5) Tell

80. Elated
(1) Afraid (2)"Poor
(3) Happy (4) Depressed

(5) Grounded

Directions (81°85) : In the following questions

a sentence hasibeen/given with some of its part

bold. To make the sentence correct you have

to replace‘the/bold part with the correct
alternative given below. If the sentence is
correctias/it is, please give 5) as your answer,

i.e, No correction required.

81. A nation cannot progress when the elected
representatives of the people are often seen
loading the cart in contrary directions.
(1) loading the cart in all directions
(2) placing the carts in diverse areas
(3) pulling the cart in different directions
(4) fighting the cart in confusing directions
(5) No correction required

82. A nation like India that has been suffer-
ing centuries of foreign subjection has
every right to strengthen its defence.

(1) for long suffered from foreign subjection
of centuries

(2) been suffering for the centuries of for-
eign subjection

(3) to suffer with centuries of foreign
subjection

(4) suffered centuries of foreign subjection

(5) No correction required

83. People seem to be developing an attitude
of dislike towards the whole class of politi-
cians
(1) a disliking attitude
(2) an attitude towards disliking
(3) some attitude for dislike
(4) some attitude of dislike
(5) No correction required

84. Food security for the ever-increasing popu-
lation is one of the most serious problem
world is facing.

(1) one of the serious problems
) one problem with seriousness
(3) amongst the serious problem
)
)

—_— — — —

one major serious problem
No correction required
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85.

(A)

87.

88.

89.

90.

91.

Instead of showing up a front of unity the
politicians hurl allegations and counter al-
legations at each other.

(1) gearing up a unity front

(2) bearing for a front with unity

(3) marking above a united front

(4) presenting a united front

(5) No correction required

Directions (86 - 90) : Rearrange the following
five sentences (A), (B), (C), (D) and (E) in the
proper sequence to form a paragraph; then
answer the questions given below them.

He felt that his honest ways were
responsible for the poverty and starvation
of his family.

Sixteen miles away from Mysore, there is
a dense forest.

He told them how his honesty was useless
and asked if he should try an alternative.
They told him that they would prefer
starving to dishonesty.

Once there lived a poor but honest
woodcutter in the forest.

So he wanted to discuss his feeling with
his wife and children.

Which of the following should be the SIXTH
(LAST) sentence ?

(1) A (2) B
3) C 4) D
(5) E

Which of the following should be the FIRST
sentence ?

(1) A (2) B
(3) C (4) D
() E

Which of the following shouldébe the FIFTH
sentence ?

(1) A 2) B
3) C (4)~D
(5) E

Which of the following should be the
SECOND sentencey?

(1) A @B
3) C (4) D
(5) E

Which of the following should be the THIRD
sentence\aftémsearrangement ?

(1) A (2) B
3) C 4) D
(5) E

Directions (91-95) : The given sentence have
two blanks which indicate that something has
been omitted. Choose the words that best fit
the meaning of the sentence as a whole.

Now, the educational courses in many
institution are sold and even for
prices.

(1) auctioned, fabulous

(2) glamourised, soaring

(3) bought, competitive
(4) advertised, cover
(5) demanded, handy

92.

93.

94.

95.

Limited __ of resources and their limited
potential is everybody's ___ .

(1) assess, responsibility

(2) reach, game

(3) availability, concern

(4) area, knowledge

(5) scope, story

The right to livelihood is'an _____ facet of
the right to life, as a fundamental
right under the€*€enstitution.

(1) important, enjeying

(2) integral, guaranteed

(3) utmost, cevered

(4) ideal, procured

(5) essential, denied

For a large majority of poor people, labour
power isr the only productive _____ they
for securing a living.

energy, gain

field, deliver

assignment, carry

asset, possess

(5) area, work

The committee's is _____ to create a space
for democratic __ of conflicts.

(1) efforts, solution

(2) tasks, findings

(3) finding, settlement

(4) concern, adherence

(5) endeavour, resolution.

Directions (96 — 100) : Read each sentence to
find out whether there is any grammatical error
or idiomatic error in it. The error, if any, will
be in one part of the sentence. The number of
that part is the answer. If there is no error, the
answer is (5). (Ignore errors of punctuation, if

any.)

96.

97.

98.

99.

100.

1) The rate on which we are /2)
accumulating information is not /3)
commensurate with the rate at /4) which
our awareness is growing. /5) No error.

1) If one wants pearls /2) one has to dive
deep /3) beneath the sea or be content /4)
with pebbles on the shore. /5) No error.

1) This is the way /2) to dissolving of /3) all
differences between /4) individuals,
communities and faiths. /5) No error

1) We need to /2) attune ourselves/ 3) to
receiving or learning /4) the truth. /5) No
error.

1) We need to get /2) sensitised to the way /
3) we affect other fellow humans. /5) No error.
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